R XY IS

fla: Jud: _ ezuuu_
(2x% — 2x+3)(6x + 6) — 3x +5 (6x> — dx— 6)(5x+2)+3 x 3x+4
(5x° — 6)(2x — 4) — 2% —3x — 4 6x + (4 —x)(x — 3)(6x + 4)
(53 — 4)(x+6) — ¥ +2x — 1 (4x — 1)(6x + 2)(6x + 3)
(X +x—4)2x—6)+ 1 x 6x— 1 x— (1 +3x)(3x — 4)(4x — 6)
(3x — 6)(6x + 1)(4x— 5) (53 + 1)(dx+5) —2¢ —2x +4
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R XY IS

fia: Juii: Avuuu:
(2% — 2x+ 3)(6x + 6) — 3x + 5 (6x% — 4x— 6)(5x+2) +3 x 3x+ 4
12 + 3x+ 23 30x — 8% —29x— 8
(52— 6)(2x—4) — 2% —3x — 4 6x+ (4 — x)(x — 3)(6x + 4)
10x° — 22x% — 15x + 20 —6x> + 38x° — 38x — 48
(5% — 4)(x+6) — % +2x — 1 (4x — 1)(6x + 2)(6x + 3)
5¢ + 2952 — 2x — 25 144x° + 84x*> —6x— 6
2 +x—4)2x—6)+1 x 6x— 1 x— (14 3x)(3x — 4)(4x — 6)
4 — 1062 — 8x + 23 —36x° + 90x% — 37x — 24
(3x— 6)(6x + 1)(4x — 5) (5% + 1)(4x+5) — 2% —2x + 4
72x° — 22257 + 141x+ 30 20x° + 232 +2x+ 9
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